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Problem 1

(BRI SRR 35 £ (n) il g(n) SUTAEIE SRR F AR F TR A5

L. f(n) = 0(g(n)) = g(n) = O(f(n)) .

2. f(n) +g(n) = O(min(f(n), g(n))) «

3. f(n) = 0(g(n) = log(f(n)) = O(log(g(n))) , HHAFHTA LIE K n , 4 log(g(n)) =
1LH f(n) =1,

4. f(n) = 0(g(n)) = 2/ = 0(26™) .

5. f(n) = 0((f(m)?)

6. f(n) = 0(g(n)) = g(n) =Q(f(n)) .

7. f(n) =O(f(n/2))

8. f(n)+o(f(n) =O(f(n)) .
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Problem 2

(0 55 Q iy HeAsIl) FELefE A SRATRBOR 7 2ok X Q « B
FQ (fF “Q 7)) KFRFAHEE L. SRR ¢, MR 28,
£ f(n) 2 cg(n) 20, WFR £(n) =0 (g(n))

LOERT s REMEAE SRR £ (n) Fl g(n) , B0 f(n) = O(g(n) 5# f(n) =02
(g(n) Wi AL, RN, WURMH QKA Q , IBAKAEIER AL

2. ik AT Q AR Q S 2 L5 T o) O P 1 B

S AT — PRI ROR B I3k 2 X O 5 IR O R FRE R M0 2 X0
TR £(n) = 0'(g(n)) M4 EALL |f(n)] = O(g(n)) -

3. AL O fUBE O (BSREEN Q | 5B 3.0 (JL PPT 45 2 WhSS 6 Tolgrsht 3.1
) Py S A BT BT AN

HUMELEEN 0 (HfE “407) KI5 ZMXEHA T O -
0= {f(n)|3c >0,k > 0,n9 > 0,Yn > ng,0 < f(n) < cg(n)logh(n)}

4 F—FRRIE TR E XL QRO o WFIE R 3.1 (WL PPT 45 2 #H45 6 Tlali ot 3.1

) MR AL -
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